

$a = \frac{2b}{mq}$	$q = \frac{b}{am}$	$a = \frac{bq}{m}$	$q = (ab)^2 + m$	$q = a^2b^2 - m$	$q = \frac{a - 2m}{b^2}$
$q = \frac{a - bm}{2}$	$q = (a + b)^2 - m^2$	$a = bmq$	$q = \frac{m - 2b}{a}$	$a = mq - \frac{b}{2}$	$q = \frac{am}{b}$
$a = \frac{m}{2q} + b$	$a = \sqrt{b + mq^2}$	$q = \frac{(a + b)^2}{m}$	$q = \frac{2b}{am}$	$a = \sqrt{\frac{q - m}{b}}$	$a = 2q + bm$
$a = \frac{b}{mq}$	$a = \frac{b^2}{q} + 2m$	$a = \sqrt{\frac{q + m}{b^2}}$	$a = \sqrt{mq} - b$	$q = \sqrt{\frac{a^2 - b}{m}}$	$a = \sqrt{q + m^2} - b$
$q = a^2b + m$	$q = \frac{2a + b}{2m}$	$q = \frac{a^2 + b^2}{m}$	$a = \frac{m - 2q}{b}$	$a = \frac{m - 2b}{q}$	$q = \frac{a}{bm}$
$a = \frac{\sqrt{q - m}}{b}$	$q = \frac{m - ab}{2}$	$q = \frac{m}{2(a - b)}$	$a = b^2q + 2m$	$a = \sqrt{mq - b^2}$	$q = \frac{b^2}{a - 2m}$